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20229 =F 2 3 St ANSSESA A (chel: &)
2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
S Al 1,550,792 733,600 817,192 111.39%
ALY 850,792 733,600 117,192 15.97%
HWegs 700,000 0 700,000 =3
Y2 ZH 0 0 0 0.00%
g 1,550,792 733,600 817,192 111.39%
ootz - =2 1,550,792 733,600 817,192 111.39%
SEXNQ &g dotek =Z2A 850,792 733,600 117,192 15.97%
St=HMelAld &= (ot A EE3H) (k= 850,792 733,600 117,192 15.97%
CANEELEIH)
Hegs(dt=ct) 700,000 0 700,000 =3
HWEHHX S (St=ZAIS EL S A ) (St At 700,000 0 700,000 =35




